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Question 1.Select the related word/letters/numbers from the given alternatives:
&3 913 fashedt 7 & Fafrerd ey 3aRl/aEdT H 9Tl
Words : Sentence :: Paragraph: 2_

UAeE ¢ IFY 11 H[TOG : 2
Options:

1) TYPING

[y

2) Essay

IGEC)

3) Letters

&N

4) Phrase

Clcoik

Correct Answer: Essay

IGEG]

Candidate Answer: Essay
iG]

Question 2.Select the related word/letters/numbers from the given alternatives:
&3 913 fashedl 7 & Fafrerd ey 3aRi/aEdr H 9Tl

BDCE : GIHJ :: QSRT : ?

Options:

1) VWXY

2) UWMX

3) VXWY

4) UWNX
Correct Answer: VXWY
Candidate Answer: VXWY

Question 3.Select the related word/letters/numbers from the given alternatives:
&3 a3y faehedl & @ Fefetre Arse)/31&RI/EEar 1 giav|

9:162::8:7

Options:

1) 96

2) 112

3) 128

4) 160
Correct Answer: 128
Candidate Answer: [ NOT ANSWERED ]
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Question 4.

For the following questions
Find the odd word/letters/number from the given alternatives.

&3 T Farepelt 7 @ fawa ersgy 3reRy/dEar 9T
Options:

1) Apartment

e

2) Garage

R

3) Quarter

FITR

4) Flat

el

Correct Answer: Garage

B

Candidate Answer: Garage

et

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

& 9131 Tahedl 3 & fwa eree/ 316R/HEdT giAT|

Options:
1) BDF

2) GIK
3) LMO

4) 0QS
Correct Answer: LMO
Candidate Answer: LMO

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

3 13 faomedll 7 & frwa erse/ 3reR/dedr g7A gv)

Options:
1) 5-21

2) 29-45
3) 48-68

4) 71-87
Correct Answer: 48-68
Candidate Answer: [ NOT ANSWERED ]

Question 7.Arrange the following words as per order in the dictionary
et eral # eremer 7 o v Ha & gar AT |

1. Diffident 2. Difficult 3.Different 4.Diffidence
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Options:
1)1,2,3,4

2)3,2,4,1
3)2,1,34

4)3,2,14
Correct Answer: 3,2,4,1
Candidate Answer: 3,2,4,1

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TFATET 9eaT & Ueh 31eTeha 13T 1T &, ToIe Teh U oot &1 ToT 1w fashed H & HEY faehod YT ST 31Tshal &l X1 |

ACE, GJI, MQM, ?

Options:
1) SXQ

2) RWQ
3) SUQ

4) RXP
Correct Answer: SXQ
Candidate Answer: [ NOT ANSWERED ]

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TrAfafld e & vk gt o ara B, fow v ug ofed §1 v 1w fashedt & & @8 frsvey fAiw S 3regshat &1 g e

6,11,21,36,56,?
Options:

1) 42

2)51

3)81

4) 91
Correct Answer: 81
Candidate Answer: 81

Question 10.If 4 cats can kill 4 rats in 4 minutes, how many minutes will it take 8 cats to kill 8 rats?

afg AR ffeerar 4 ffete 3 a) gg1 & AR ot €, a1 316 fafoat 3o T8t & AR # farder wa ot ?
Options:

1)8

2) 4

3)2

4) 16
Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]

Question 11.If the sum of three consecutive numbers is 15, what is the square of the middle number ?

e T FARTT TEAT3T T AT 15 §, AT AT TEIT T F97 77 ghar?

Options:

1) 16

2) 25

3)36

4)9

Correct Answer: 25
Candidate Answer: 16

Question 12.From the given words, select the word which cannot be formed using the letters of the given word.

TrAfaRd faehoal 7 & g5 oee iU St fGU I 2Uee o IR HT TIWT Fleh 76T Sol1dT SIT HeheT|
ILLUSTRIOUS
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Options:
1) Lust

2) Trust
3) Riot

4) Rust
Correct Answer: Trust
Candidate Answer: Trust

Question 13.If A=1,
CAT=60,
then MAN=?

gfe A=1,
CAT=60 &,
ar MAN=?
Options:
1)27

2) 90

3) 180

4) 182
Correct Answer: 182
Candidate Answer: 182

Question 14.If 'P' means '+', 'Q' means 'X', 'R' means '+', and 'S' means '-', then 44Q9R1256Q4P16="?

I PR FT '+, &, 'Q R I W, R FTHF '+, 3RS ISy, ar
44Q9R1256Q4P16="
Options:

1) 25
2) 36
3) 112

4) 12
Correct Answer: 25
Candidate Answer: 25

Question 15.If 84+96=4842,
then 36+78="7?

Ife 84+96=4842 g,
ar36+78="7?

Options:
1) 3918

2) 3678
3) 3819

4) 1839
Correct Answer: 3918
Candidate Answer: [ NOT ANSWERED ]
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Question 16.Find the missing number from the given responses:

6 15 | 20
8 4 5
3 5 20
51 | 65 ?

U 10 feredl 7 & ofcd 37 <A HifoT ?
Options:

1) 12

12

2) 51

51

3)56

56

4)120

120

Correct Answer: 120
120

Candidate Answer: 120
120

Question 17.Rajesh walks 2 km to south, then turns north-east, and walks 3 km. Then he turns south and walks 2 kms. Then he turns west and walks 4 kms. Finally,
he turns north-west and walks 5 kms. In which direction is he from his starting point?

T STEI0T T 3R 2 R, 2. TreferT 8, 3R T 3eak - g Y 3] g5 3 6,20, TIora &1 39 a1e dg STaIoT &1 31T Heat 2 Tt wroram §1 O afdes & 3w fs 4
5.7, o §1 31T 7 T Sec-TRas T aF 73T 8, 3 5 R, T 1 7 el wa @ fra R A § 2
Options:

1) North-west

Scd-gRaH

2) North-east

see-f

3) Souh-east

afror-gs

4) South-west

AL ESIECE )

Correct Answer: North-west

ScaR-gfeaH

Candidate Answer: North-west

Sca-afRaA

Question 18.0ne statement is given followed by two conclusions/assumptions, I and II. You have to consider the statement to be true, even if it seems to be at
variance from commonly known facts. You are to decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement:

I) Quality has a price tag.

II) India is allocating lots of funds to education.

Conclusions:

I) Quality of education in India would improve.

IT) Funding alone can enhance quality of education.

AT vesT & Us A1 e gordey Y 913 €, oads 39T @ fas/Aega, 1 3R 11 Rerer a1 €1 3aen! faaR a1 § o deFdey Ocd § I 98 GAegd: g a2t &
AT I BYaT 81 3T9eR ToRT et & o oU 910 garaey & @ -1 A fRad 9 O TEr Asay/Aadr STl ST gehdT § ?

YU :

I) J[UeeaT T Teh Ho BiaT ¢l

I1) 5’ TR SHTAT FThT =T T 3Tde I @&

Aok

I) $RT # RI& ¥ oTaed F R grm|

IT) Sharer refierst & &Y TRIeTm T UTdealT T SGraT ST Hehell ¢ |
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Options:
1) Only Conclusion I follows
ol sy 1 TE &
2) Only Conclusion II follows
hae sy 11 e &1
3) Both the Conclusions I and II follow
sy [ 39X 11 =t Ter §1
4) Neither Conclusion I nor II follows

AT Y sy [ Y & 3R AT &Y I T &1

Correct Answer: Only Conclusion I follows

Fao sy 1 @
Candidate Answer: [ NOT ANSWERED ]

Question 19.How many triangles are there in the following figure?

P a@e ey o Rree PeET € 2

Options:

1) 18

2) 13

3)9

4)5

Correct Answer: 18
Candidate Answer: 13

Question 20.Identify the diagram that best represents the relationship among classes given below
Males, Fathers, Engineers

TE 3G A S i fedr o et & e Wy Feeewr w1 R § |
9, T, gehfee

Options:
1)
2)

QO

3)

4)
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Correct Answer:

@

Candidate Answer:

QO

Question 21.Which answer figure will complete the pattern in the question figure?

Y Sea-3Th i TeT-3Tpiar & TarwT st o Yl ?

S
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Options:
1)

Correct Answer:

Candidate Answer:
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Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

w10 fremedl 7 @ 30 3ccR HTHia A giaw fowsd veat smepfar fAfea 81

Options:
1)

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]
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Question 23.A piece of paper is folded and cut as shown below in the question figure. From the given answer figures, indicate how it will appear when opened.

T 3l FeTat bt ofr &Y 916 et MY & ITER AISF FIeT AT At Wiewed & e T6 vy I fer S s &am 2

i i
L £

i

:

LS
~

2

]

o © (@)
' o O oo
Correct Answer:

(@] o
: Qo
(&} 5 OO

o ©
(IR o)
OO

Candidate Answer:

gg
SHoo
ol o
otPa %o

o~ 0
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Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

T T UOT T MN X1 TR @1 ST AT &Y 918 3eaid Aepfaral 7 @ hilT-3r mepfar Teat 3mepfar o1 #gr wfafass g ?

)

SRR R K R
O

Options:
1)

O

i

2)

o

O
@]
3)
@]
o
y
a)
7
[
O
N\
o
@]
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Candidate Answer:

o

0O

O

Question 25.In this question, the sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 4 and that of
Matrix II are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., A can be represented by 02,10, etc.,
and 'B' can be represented by 57, 65, etc. Similarly you have to identify the set for the word 'FADE'

T 216G Shaol Uah HEAT-AHg SaNT aeiiT a1 &, S T fasmedt 31 & fonely w31 o arenm §| Ryt 9 W aT0 e wagg 318 & & a9if gy arife arw &, oi fan iy fow
1T &Y 3Tl A &1 3TeyE 1 & FA9 3N dfeher 6T 0 @ 4 3R 3megg 11 R 5 7 9 & 978 §1 57 HTeggl & Ueh 3&R I Ugel 3qeh! Gfardd R a1e 7 w37 §E&AT g@r gefrar
ST HhT & 3ETeX0T & foIT 'A' Y 02, 10 317 aRT &RAET ST FehelT § TUT'B ' Y 57, 65 317 GaRT &Rffm it Fehedl 1 ¥ e & HTqh 2T €U 21 'FADE' & oI wafg &1
g

MATRIX -1 MATRIX - II
HSNSNAE EeeEes
O] E A © WU 5 F B B G H
i1 A © u 1 E 6 B G Ho R D
2 |E 5 U A 7 b F & H B
3 o U e A | 8 &€ H D B F
4 U A 1 E O 8 H B F 6 D
Options:

1) 76, 02, 75, 32
2) 68,20,57, 14
3) 55, 33, 65, 23

4) 89, 10, 96, 41
Correct Answer: 76, 02, 75, 32
Candidate Answer: 76, 02, 75, 32

Question 26.Chief Ministers of States are members of

AT @ et & & fohesh Heea Usd! & #Eg 7N g &2
Options:

1) NITI Commission(Aayog)

Afa 3marer

2) Finance Commission

faed 3marr

3) National Development Council

g faemra afkwg

4) Election Commission

AT AT

Correct Answer: National Development Council
g faemr aftwg

Candidate Answer: NITI Commission(Aayog)
fa 3marer

Question 27.When the demand for a good increases with an increase in income, such a good is called

SIS ST €% 3T o T T e G 1 AT seclt & A T g B FAT et § ?
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Options:
1) Superior good
3T AL
2) Giffin good
TAeTEaT AT
3) Inferior good
fogpec aer
4) Normal good
HIHAT HATel
Correct Answer: Superior good
e A
Candidate Answer: [ NOT ANSWERED ]

Question 28.Which of the following is the most important raw material for generation of power in India?

AR H Fol 3cdtest & fow Meafaf@d & & slaar ygw Fear vard § ?
Options:

1) Mineral Oil

gfas aa

2) Natural Gas

e

3) Uranium

ATH

4) Coal

FIIET

Correct Answer: Coal

FITeT

Candidate Answer: Coal

P

Question 29.Which of the following is the treatment of water pollution?

TFATET fehetl & & lsT T STel TuOT 7 3TN 2
Options:

1) Bag house filter

77 139 fegee

2) Windrow composting

et o

3) Venturi scrubber

Fer=g{ TR

4) Reverse Osmosis

gfaadt wrERoT
Correct Answer: Reverse Osmosis

gfaadf wreRor

Candidate Answer: Reverse Osmosis

gfaadt wrEReT

Question 30.The Comptroller and Auditor General is closely connected with which of the following Committees of Parliament?

I3 Ud ATaaTIRIeTsh ITTHe T ¥ TG T =Tl ﬁﬁmm@@:@ﬂ%?
Options:

1) The Estimates Committee

UTeFholel TiATT

2) The Committee on Public Undertakings
SIS 39 AT

3) The Public Accounts Committee

o o afafa

4) All of these

Tl TaehoT wdl &

Correct Answer: The Public Accounts Committee

e o afafa
Candidate Answer: [ NOT ANSWERED ]
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Question 31.The demand of a commodity is a direct demand but the demand of a factor of production is called a

Tl o] T AleT T et AT §, ﬁﬁmévmﬁﬂﬁwm%‘?
Options:

1) Crossed demand

FeTorey e

2) Joint demand

e Hiar

3) Derived demand

&gcYeat Al

4) Independent demand

TadT Alr

Correct Answer: Derived demand
&gcYeal A

Candidate Answer: [ NOT ANSWERED ]

Question 32.Depreciation is loss in value of

e & Tohaeh Hog H gl § 2
Options:

1) Final goods

3ifa# 3euTe (FTe)

2) Machinery

AN (T7 )

3) Capital stock

4) Stock of inventory

FEH 1 Fh

Correct Answer: Machinery
A (T7 )

Candidate Answer: [ NOT ANSWERED ]

Question 33.What is the Mehrauli Pillar in the complex of Qutub Minar primarily famous for?

Fld HAR & I e Felel Ter Jrafdsh &7 & forer HRoT 9T 82
Options:

1) Proverbial height

dAEFaTHg Far$ & HROT

2) Skilful stone cutting

TR W §é Fers T FRFRY F HROT

3) Excellent quality steel

3T UTTAT hT ST o FHROT

4) Statue of Buddha on top

M IR gg 7T & FRoT

Correct Answer: Excellent quality steel
3T UTTAT T ST o FHROT
Candidate Answer: [ NOT ANSWERED ]

Question 34.Harvesting season of Kharif crop in India is

ARTTY F TAE T BT T hels aY o fohel FGIAT 3 T ST & ?
Options:

1) January-March

SeAa-ART

2) February-April

-3

3) September-October

[GERSEICSORS

4) November-January

AGFI-SFeTar

Correct Answer: September-October
[GERSEICSORS

Candidate Answer: [ NOT ANSWERED ]
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Question 35.Which of the following produces the most solid waste ?

AFATATET H  FleT T SATET B IR cTeoT AT &7
Options:

1) Agriculture

F

2) Nuclear Power Plants
fFeR U T

3) Manufacturing

3cUTeeT 36T

4) Packaging Industry

fHar 3T

Correct Answer: Manufacturing

3cqTesT e

Candidate Answer: Nuclear Power Plants

e I T

Question 36.Potassium Permanganate is used for purifying drinking water, because

GRRITHE RHATAE T T GsTel o YEIR0T & T o St § ifehs I
Options:

1) It is a reducing agent

e Toic

2) It is an oxidising agent

T NTFasEiT vele &

3) It is a sterilising agent

FotrRfieRioT TSl §

4) It dissolves the impurities of water

STer T 3reffeat b el ST §

Correct Answer: It is an oxidising agent
T 3TFEEEET vole &
Candidate Answer: [ NOT ANSWERED ]

Question 37.Spraying of DDT on crops causes pollution of

FHe T ELEE. F BSHE e THR T TG SeeT AT 87
Options:

1) Air & Soil

o A

2) Crops & Air

BT TAT I

3) Soil & Water

ﬂc?:.'l' GERSC)

4) Air & Water

g AT STl

Correct Answer: Soil & Water

F@I’ T el

Candidate Answer: [ NOT ANSWERED ]

Question 38.Which cells in pancreas produce Insulin ?

A i R, S gegfoied Scdee Fll 8, FAT Fgelld 82
Options:

1) Thymus

YA

2) Estrogen

VEISNT

3) Corpus epididymis

F5H vfEsaiae

4) Islets of Langerhans

3TSele AT ST

Correct Answer: Islets of Langerhans
ITSolcH 3TF IR

Candidate Answer: [ NOT ANSWERED ]
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Question 39.When we see an object, the image formed on the retina is

SIS & el o (Us) &l 2@ € A Y81 R St arell Tic e S gram ?

Options:

1) Real and inverted
AT qUT 3ol

2) Real and erect
AT dT drer

3) Virtual and erect
Ficaa qur d@er

4) Virtual and inverted

FHicad T 3eer

Correct Answer: Real and inverted
aRAfad quT 3eer
Candidate Answer: Real and erect

eI auT drer

Question 40.Find the "odd one out".

Fafaf@d & & Hlaar [ashed erT § ?
Options:

1) Linux

TR

2) Windows 98

a=arer 98

3) C++

C++

4) Windows 7

au—g \_T|_ 7
Correct Answer: C++
C++

Candidate Answer: C++
C++

Question 41.Kinetic energy depends on

aifast 3o fhg W fAeR st &2

Options:

1) the velocity or speed of the moving body.
e /aeTeie fvs & qar 9x

2) the mass of the moving body

Frfarelier Ao & IR 9)

3) the pressure of the moving body

afaeher Ao F e W

4) both mass and velocity of the moving body
Frfarelier RUvs & 397 F2UT R =t ]

Correct Answer: both mass and velocity of the moving body

el AU & 391 gUT IR gt oY

Candidate Answer: both mass and velocity of the moving body
Ffaeier s & 31 IUT $IR At I

Question 42.In which form is the supplied heat energy stored during change in temperature of substance?

e aere 3 AT aRade & R FRT 35T il o §9 # Harfed Wwelr € ?
Options:

1) Heat energy

3SAT ol

2) Kinetic energy

aifast it

3) Potential energy

[EECk

4) Both kinetic and potential energy

aifast aar g Soit gt

Correct Answer: Kinetic energy

aTferet Fralt
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Candidate Answer: Heat energy

AT FaiT

Question 43.Atoms of same element having different mass numbers are called

STer FoREr dfea & THAI] T Uk W SATET GedaleT BT Bici § ol 38 T &gl 87
Options:

1) Isobars

ITIEER

2) Isotopes

KIlpE: iy

3) Isotones

Kl

4) Isomers

IR

Correct Answer: Isotopes

R
Candidate Answer: [ NOT ANSWERED ]

Question 44.Which script was used in Ashoka's inscriptions?

37t o RIeTerE TR fora fordT &1 sraieT foram o am?
Options:

1) Brahmi

EIRG

2) Devanagiri

STy

3) Gurmukhi

il

4) Sanskrit

T

C
Correct Answer: Brahmi

s

Candidate Answer: Devanagiri

SaATIRY

Question 45.The ideas of Liberty, Equality and Fraternity, which influenced the Indian National Movement, was taken from

FICTAT, FARAT AR FeYeaelm & e, T 1Rl 7 TASER Jieleled FeITcT g3 2T, gl & foIw 1w e
Options:

1) American Revolution

AR it

2) Russian Revolution

& it

3) Chinese revolution

el shifar

4) French revolution

W HT FHifd

Correct Answer: French revolution

e T i

Candidate Answer: [ NOT ANSWERED ]

Question 46.The Kaushal Kendra (skilling center) under the Pradhan Mantri Mudra Yojana has been inaugurated in the city of

T HA FET AT 3 TGt hiTel dhog: (FRITRY her) T SeEesT oy e # famam arar ?
Options:

1) Noida

st

2) Kolkata

FRITRIT

3) Mumbai

i

4) Hyderabad

e
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Correct Answer: Noida

st
Candidate Answer: [ NOT ANSWERED ]

Question 47.Which one of the following is not the official language of the UNO?

TYF TS HE H AT 3 A HloT Al 1 FHTeT T 19T 781 &2

Options:

1) French
%

2) Arabic
wies

3) Spanish
wfaer

4) Japanese

STITeAT

Correct Answer: Japanese
SITAY

Candidate Answer: [ NOT ANSWERED ]

Question 48.With the participation in the Rio Olympics who has become the first tennis player in the world to have 7 appearances in Olympics?

3t 3Tl # #eT orarer ag e Sfore Frendy § S | ar it foere o e o g 82
Options:

1) Martina Navratilova

ARERT saifaear

2) Serena Williams

e fafeasw

3) Leander Paes

[SIESReE:y

4) Roger Federer

o e

Correct Answer: Leander Paes
[SIEsReE:y

Candidate Answer: [ NOT ANSWERED ]

Question 49.How many rings are there in the Olympic flag?
iR 3 & frae Rea &2

Options:

1)4

2)5

3)6

4)7
Correct Answer: 5
Candidate Answer: 5

Question 50.Indian Army's School of Artillery is located at

HRART {AT T ATETAT TSI (Fhet 31T 3TETeRY) Tl Reud 82
Options:

1) Khadakvasala

GshHardel

2) Dehradun

3) Deolali

Saelel

4) Roorkee

FZhT

Correct Answer: Deolali

SaeTenr
Candidate Answer: [ NOT ANSWERED ]

http//thepracticetestin/challengesystenh A spbriad (yiesiOnd pripat IaampiEgabpids nauiressabdaiaocrédestioatbdrrt. In 18/31



9124/2016 Download More PapeStafSetestionSommisionovtJobsAlert.In

Question 51.A and B together can do a piece of work in 12 days while A alone can do the same work in 30 days. B alone can do it in

A 3R B T &nre oY TR 12 T & o T & STafen A 31eholr 38T 18 &t 30 et 7 o GehlT &1 B 37ehol 38T 1o ! by ot T T & ?

Options:

1) 18 days

18 feet

2) 20 days

20 et

3) 15 days

15 f&et

4) 22 days

22 et

Correct Answer: 20 days
20 f&eT

Candidate Answer: 20 days
20 feat

Question 52.
The diagonal of a cube is + 192 cm . Its volume {in cm®) will be

TR T o1 T30t V192 A, &1 58T 3aasT (@3 ) fraer gl ?

Options:
1) 216

2) 432
3) 512

4) 624
Correct Answer: 512
Candidate Answer: [ NOT ANSWERED ]

Question 53.A watch is listed for Rs.230 and is sold at a discount of 12%, then the sale price of the watch is

Teh ©ST &I Hed Rs. 230 §1 T8 12% 1 T T 91 STl §, AT T31 7 Tkt ey Tohetetr giam ?

Options:
1) Rs.27.6

2) Rs.276
3) Rs.202.4

4) Rs.257.6
Correct Answer: Rs.202.4
Candidate Answer: Rs.202.4

Question 54.Ravi has a roadmap with a scale of 1.5 cm for 18 km. He drives on that road for 72 km. What would be his distance covered in that map.

U & urg g 18 fr . & v 1.5 .. arer Qs §| a8 38 T W 72 .20, efan §1 30 A9 F a7 1 18 g Fhwah gl ?

Options:
1)4cm
4377
2)6cm
6 T3
3)8cm
8 {.A.
4)7 cm
7 {4
Correct Answer: 6 cm
6 T3

Candidate Answer: 6 cm
6 T
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Question 55.The profit (in Rs.) after selling an article for Rs.524 is the same as the loss (in Rs.) after selling it for Rs.452. The cost price of the article is:

T a6t T Rs. 524 & St TR 3cfaAT €1 W87 Il § FIchell 34 Rs. 452  S/9iel WX 1ol @IclT & | a6 1 56 Hed FATE ?
Options:
1) Rs.480
2) Rs.485
3) Rs.488

4) Rs.500
Correct Answer: Rs.488
Candidate Answer: [ NOT ANSWERED ]

Question 56.A circle and a square have same area. The ratio of the side of the square to the radius of the circle will be:

U o T Ueh G391 o 1A%l HAI &1 a1 1 8151 3R gl Y B &1 31e7arer o g2

Options:
1)

Vil

2)

1o

3)
i g

4)

1:m

Correct Answer:
Vil

Candidate Answer:
Vil

Question 57.How long does a train, 75 m long, moving at 60 km/hr take to pass a certain telegraph post?

75 . o1l Teh Yo@TEY 60 6. 7. /80 & el I fH SNad & WersY il IR ol & et T ol ?
Options:

1) 3.5 seconds

3.5 TS

2) 4.5 seconds

4.5 dhsg

3) 5 seconds

5 Thsd

4) 5.4 seconds

5.4 Tehsd

Correct Answer: 4.5 seconds

4.5 Jhsd

Candidate Answer: 4.5 seconds

4.5 Jehsd

Question 58.

2 1
If 2x-—= 1(x # 0),then the value of x*- —is
x x

I 2% - %= 1(x = 0),8ramn- %ar:m;ra::n%?

http://thepracticetest.n/challengesysterh ) €pbriad (et dnd pripat Iaempieg.abpids aufreoaabdatocrddeationtbér 1. [0 20131



9124/2016 Download More PapestafSetestiongopmisiovtobsAlert.In

Options:
1)
13

4)
17
8
Correct Answer:
13
8
Candidate Answer:
13
8

Question 59.
if{a +§J 2= 3, then the value of a® +$ will be

Options:
1)0

2)1
3)2

4)3
Correct Answer: 1
Candidate Answer: 1

Question 60.The point equidistant from the vertices of a triangle is called its

T ST o <t & FRieRTeN [Neg ot @/ T et 82
Options:

1) incentre

3iddeg

2) circumcentre

qRe&es

3) orthocentre

[CEE Ty

4) centroid

Fegeh

Correct Answer: circumcentre
qfteheg

Candidate Answer: centroid

oo

Question 61.If one angle of a triangle is equal to half the sum of the other two equal angles, then the triangle is

7 Tl T33ST AT Teh 10T GFR & THTT HIOT & T & 3T & SR g, o Feger g ?
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Options:
1) isosceles

LECAEEL

2) scalene

2
3) equilateral
2
4) right angled
THARIOTH

Correct Answer: equilateral
HHAST

)

Candidate Answer: [ NOT ANSWERED ]

Question 62.

Options:
1)3/4

2) Y,

3)

a1,
Correct Answer: /4
Candidate Answer: [ NOT ANSWERED ]

Question 63.The least number, which when divided by 5, 6, 7 and 8 leaves a remainder 3 in each case, but when divided by 9 leaves no remainder, is:

TE eI B HEAT HleT-T & T 5,6,7,8 W #1197 &7 TR Fedh o1 3 3 AW T, o] 9 A 991 &7 W 5o A9 o T ?

Options:
1) 1677

2) 1683
3) 2523

4) 3363
Correct Answer: 1683
Candidate Answer: [ NOT ANSWERED ]

Question 64.A cricketer, whose bowling average was 12.4 runs/wicket takes 5 wickets for 22 runs in a match, thereby decreases his average by 0.4. The number of
wickets, taken by him before this match was:

TR fopehe o, Torehr dicarsit &1 3t e 12.4 3o ufay fashe om, e #9722 & X 5 e forw foaer 35eht digarsi & 3ihaa & 0.4 & e 31 St §1 38 39 ¥ ggor
38 R fow a3 faehel & v fandsir 4 2

Options:
1) 78

2) 87
3)95

4) 105
Correct Answer: 95
Candidate Answer: [ NOT ANSWERED ]

Question 65.5um of the factors of 4b%c? - (b2 + c% - a2) 2 is

4b%c2 - (b? + 2 - a?) 2 & TUiteRT &1 AT R & ?
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Options:
l)a+b+c

2)2(a+b+c0)
3)0

4)1
Correct Answer: 2(a +b +¢)
Candidate Answer: [ NOT ANSWERED ]

Question 66.If { 1/ (a - b) } 2 + ab = p (a + b)?, then the value of p is

{1l @-b)}2+ab=p(a+blerapHATFTE?

Options:
1)p=4

2)
3)

4)p=2
Correct Answer:

Candidate Answer: p = 4

Question 67.The sum of two angles of a triangle is 116° and their difference is 24°. The measure of smallest angle of the triangle is

Tl Tegst 3 @ IO T TT 116° & 3R 3eTahT 31w 24° §1 ST & T B o1 Y 719 27 § 2

Options:
1) 38°

2) 28°
3) 46°

4) 64°
Correct Answer: 46°
Candidate Answer: 46°

Question 68.In a A ABC, DE || BC. D and E lie on AB and AC respectively. If AB = 7 cm and BD = 3cm, then find BC:DE

T A ABC # DE || BC &1 D 3iR E %#=I:AB 3iR AC WX 93 &1 Ife AB = 7 T.#7. 3R BD = 3 ¥.77. gr df BC:DE A1 Hifaw ?

Options:
1) 2:2

2)3:2
3)3.5:2

4)7:2
Correct Answer: 3.5: 2
Candidate Answer: [ NOT ANSWERED ]

Question 69.
Options:
1)0

2)1

3)2

4)-1
Correct Answer: 1
Candidate Answer: 1
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Question 70.The difference between the compound interest and the simple interest on Rs. 6250 at 8% per annum in 2 years is

Rs. 6250 TR 8% d1f¥eh &Y &X A Tshfg sTTeT 3R AEIRUT SATST T 3HeclT FAT G 2
Options:
1) Rs.30
2) Rs.40
3) Rs.50

4) Rs.60
Correct Answer: Rs.40
Candidate Answer: [ NOT ANSWERED ]

Question 71.If the angle of elevation of the top of a pillar from the ground level is raised from 30° to 60°, the length of the shadow of a pillar of height 50v3 will be
decreased by

e Sl aor & R @eY & MY T 37T 1T 30° F Far 60° HAT ST § Y 50v3 T @edY Hr o H aeaTs fohdsr e smeal ?

Options:
1) 60 m
60 7.
2)75m
75 A,

3) 100 m
100 #r.
4) 50 m
50 7.

Correct Answer: 100 m
100 =

Candidate Answer: 100 m

100 #.

Question 72.Study the following pie-chart and answer the questions.
Budget estimated by a family for their monthly expenses.

Total salary = (1 32000 per month

AT IS T1E T 3ETTA HlfeTT 3R F2=1t T e QST

IRER ZanT 319e Al @ & fAv AT Foie Fof ade = 1) 32000 T #1g
The budget estimated by the family on Clothing and Grocery together is

IRER ZaRT aE T e I ool AR 37T Sofe fhelel & ?

Options:
1) Rs.8950

2) Rs.8960
3) Rs.8850

4) Rs.8860
Correct Answer: Rs.8960
Candidate Answer: Rs.8960
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Question 73.Study the following pie-chart and answer the questions.
Budget estimated by a family for their monthly expenses.

Total salary = (1 32000 per month

AT 91 TIE F7 31873 FfSw 31 weat #1 3car QfFT]

IRER ZaRT 319 A8 @ & fav sgAfed aeie Fof dda = 0 32000 i #1E
Due to sudden marriage, the family incurs miscellaneous expenditure of Rs. 3040 in total. Then the increase in the amount under this head from that budgeted is

3T f3aTg & HNOT TRAN Fef Rs. 3040 T FAAer a2y el 1 AT FoTe # A $H #G & Heclard AR 7 o 3f g% 2

Options:
1) Rs.810

2) Rs.1738
3) Rs.234

4) Rs.800
Correct Answer: Rs.800
Candidate Answer: Rs.800

Question 74.Study the following pie-chart and answer the questions.
Budget estimated by a family for their monthly expenses.
Total salary = (1 32000 per month

AT u1$ T1E F7 3reT3sT ST 3R T2t 7 3car QfFTI

Wmmmﬁmaﬁéma@ﬂﬁam@m =[] 32000 9fd #AE
The difference in the amount estimated by the family on Electricity and Call bill is:

IRER garT frstel 3R @iet el W) 3gaAfaa Ui # et 3w 8 2

Options:
1) Rs.4560

2) Rs.4470
3) Rs.4168

4) Rs.4160
Correct Answer: Rs.4160
Candidate Answer: [ NOT ANSWERED ]

Question 75.Study the following pie-chart and answer the questions.
Budget estimated by a family for their monthly expenses.

Total salary = (1 32000 per month

AT 91 T1E F7 318731 FfSw 31 w2t #1 3car QfFT]

IRER ZaRT 319 A8 @ & fav sgAfd eie Fof dda = 1) 32000 9f #1E
The family actually spent Rs.4672 on Grocery. Then the difference in the amount budgeted and spent on grocery is:

IRER 7 e oX AT AiRs. 4672 &1 @ fanam a e ) sregAfae sote TR 3k so & 18 afr F s seaw 2

http//thepracticetestin/challengesystenh A spbriad (yiesiOnd pripat IaampiEgabpids nauiressabdaiaocrédestioatbdrrt. In 25/31



9124/2016 Download More PapeStafSetegionCommisionovtJobs Alert.In

Options:
1) Rs.1528

2)Rs.1728
3) Rs.1278

4) Rs.1628
Correct Answer: Rs.1728
Candidate Answer: Rs.1728

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

MASTICATE

Options:

1) CHEW

2) CHOKE

3) BITE

4) SWALLOW

Correct Answer: CHEW

Candidate Answer: [ NOT ANSWERED ]

Question 77.1In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

FEROCIOUS

Options:

1) MILD

2) SWEET

3) BRUTAL

4) WILD

Correct Answer: MILD

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Alleviate

2) Allaviate

3) Alliveate

4) Allaevate

Correct Answer: Alleviate

Candidate Answer: [ NOT ANSWERED ]

Question 79.1In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “*No error” option.

The reason Janet came dressed (A) / as Lady Gaga was because she'd been told (B) / it was a costume party (C) / No error (D).
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: [ NOT ANSWERED ]

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “No error” option.

The path to (A) / the famous church passes (B) / through a forest (C) / No error (D).
Options:

1)A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: [ NOT ANSWERED ]

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “No error” option.

A first European sailor (A) / who came to India (B) / was Vasco-da-Gama (C) / No error (D).

http//thepracticetestin/challengesystenh A spbriad (yiesiOnd pripat IaampiEgabpids nauiressabdaiaocrédestioatbdrrt. In 26/31



9124/2016 Download More PapeStafSetegionCommisionovtJobs Alert.In
Options:
1)A
2)B
3)C
4)D
Correct Answer: A
Candidate Answer: [ NOT ANSWERED ]

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Legislation was passed to punish brokers who their client’s funds.
Options:

1) devastate

2) devour

3) defalcate

4) dawdle

Correct Answer: defalcate

Candidate Answer: [ NOT ANSWERED ]

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

His father was the same business.
Options:

1) managing over

2) engaged in

3) endowed with

4) enlisted in

Correct Answer: engaged in

Candidate Answer: [ NOT ANSWERED ]

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

It is due to this lethargy that the plan fell
Options:

1) off

2) out

3) through

4) away

Correct Answer: through

Candidate Answer: [ NOT ANSWERED ]

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Bad blood

Options:

1) Shooting

2) Anaemia

3) Enmity

4) Mourning

Correct Answer: Enmity

Candidate Answer: [ NOT ANSWERED ]

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To beat about the bush
Options:

1) To try to win favours

2) To talk well

3) To talk about relevant things
4) To talk about irrelevant things

Correct Answer: To talk about irrelevant things
Candidate Answer: [ NOT ANSWERED ]

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Maiden speech
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Options:

1) Bachelor's speech

2) First speech

3) Last speech

4) Extempore speech

Correct Answer: First speech

Candidate Answer: [ NOT ANSWERED ]

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A place where money is coined.
Options:

1) Bank

2) Mint

3) Firm

4) Parliament

Correct Answer: Mint

Candidate Answer: [ NOT ANSWERED ]

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The process by means of which plants and animals breathe.
Options:

1) Respiration

2) Germination

3) Absorption

4) Transpiration

Correct Answer: Respiration

Candidate Answer: [ NOT ANSWERED ]

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who sneers at the aims and beliefs of his fellow men.
Options:

1) Critic

2) Connoisseur

3) Pedant

4) Cynic

Correct Answer: Cynic

Candidate Answer: [ NOT ANSWERED ]

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

He started at the bottom rung of the ladder and then gained success.
Options:

1) bottom rung of the stair

2) lower rung of the ladder

3) lower rung of the stair

4) No improvement

Correct Answer: No improvement

Candidate Answer: [ NOT ANSWERED ]

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

The judge gave the verdict against the Government.
Options:

1) pronounced

2) declared

3) sentenced

4) No improvement

Correct Answer: pronounced
Candidate Answer: [ NOT ANSWERED ]

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

The fire service personnel put off the fire with much difficulty.
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Options:

1) put on

2) put out

3) put away

4) No improvement
Correct Answer: put out

Candidate Answer: [ NOT ANSWERED ]

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

He has the irritating habit of playing his own trumpet all the time.
Options:

1) blowing his own trumpet

2) pumping his own trumpet

3) bringing up his own trumpet

4) No improvement

Correct Answer: blowing his own trumpet

Candidate Answer: [ NOT ANSWERED ]

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

His illness means he must resign his chairmanship impromptu.
Options:

1) fast

2) forthwith

3) earliest

4) No improvement

Correct Answer: forthwith

Candidate Answer: earliest

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

There is a growing parallel between India and Europe in terms of language policy and challenges of maintaining a balance between regional languages, minority
languages and the rising demand for English.

The EU's language policy promotes multinationalism and the idea that every EU citizen should learn and speak at least two foreign languages in addition to their
mother tongue. In practice, the foreign language curriculum in European countries is dominated now by the need to learn English. So the defacto policy is that
children should, in addition to the language of their member state, learn English and one other European language. English has become not only the language of
business across Europe, but also the corporate language of many French, German, Dutch and Spanish enterprises.

The trend across Europe is for schools to begin teaching English in Class I, treating it as a basic skill rather than a foreign language. This trend began in earnest only
after 2000. However, the methods to teach English are diverse - an increasingly popular trend is towards bilingual schools, which teach through more than one
language medium.

There is a parallel between India and Europe as regards
Options:

1) language policy

2) trade policy

3) foreign policy

4) cultural policy

Correct Answer: language policy

Candidate Answer: language policy

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

There is a growing parallel between India and Europe in terms of language policy and challenges of maintaining a balance between regional languages, minority
languages and the rising demand for English.

The EU's language policy promotes multinationalism and the idea that every EU citizen should learn and speak at least two foreign languages in addition to their
mother tongue. In practice, the foreign language curriculum in European countries is dominated now by the need to learn English. So the defacto policy is that
children should, in addition to the language of their member state, learn English and one other European language. English has become not only the language of
business across Europe, but also the corporate language of many French, German, Dutch and Spanish enterprises.

The trend across Europe is for schools to begin teaching English in Class I, treating it as a basic skill rather than a foreign language. This trend began in earnest only
after 2000. However, the methods to teach English are diverse - an increasingly popular trend is towards bilingual schools, which teach through more than one
language medium.

According to the passage, the foreign language policy in the EU aims to foster.

http//thepracticetestin/challengesystenh A spbriad (yiesiOnd pripat IaampiEgabpids nauiressabdaiaocrédestioatbdrrt. In 20131



9124/2016 Download More PapeStafSetegionCommisionovtJobs Alert.In

Options:

1) English

2) Multilingualism

3) Bilingualism

4) Only native language

Correct Answer: Multilingualism

Candidate Answer: Bilingualism

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

There is a growing parallel between India and Europe in terms of language policy and challenges of maintaining a balance between regional languages, minority
languages and the rising demand for English.

The EU's language policy promotes multinationalism and the idea that every EU citizen should learn and speak at least two foreign languages in addition to their
mother tongue. In practice, the foreign language curriculum in European countries is dominated now by the need to learn English. So the defacto policy is that
children should, in addition to the language of their member state, learn English and one other European language. English has become not only the language of
business across Europe, but also the corporate language of many French, German, Dutch and Spanish enterprises.

The trend across Europe is for schools to begin teaching English in Class I, treating it as a basic skill rather than a foreign language. This trend began in earnest only
after 2000. However, the methods to teach English are diverse - an increasingly popular trend is towards bilingual schools, which teach through more than one
language medium.

The passage says that the rising demand for English in the EU is because of
Options:

1) immigrants

2) emigrants

3) Government policy

4) trade and commerce

Correct Answer: trade and commerce
Candidate Answer: Government policy

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

There is a growing parallel between India and Europe in terms of language policy and challenges of maintaining a balance between regional languages, minority
languages and the rising demand for English.

The EU's language policy promotes multinationalism and the idea that every EU citizen should learn and speak at least two foreign languages in addition to their
mother tongue. In practice, the foreign language curriculum in European countries is dominated now by the need to learn English. So the defacto policy is that
children should, in addition to the language of their member state, learn English and one other European language. English has become not only the language of
business across Europe, but also the corporate language of many French, German, Dutch and Spanish enterprises.

The trend across Europe is for schools to begin teaching English in Class I, treating it as a basic skill rather than a foreign language. This trend began in earnest only
after 2000. However, the methods to teach English are diverse - an increasingly popular trend is towards bilingual schools, which teach through more than one
language medium.

EU schools regard English as
Options:

1) a foreign language

2) a difficult language

3) a basic skill

4) an adult skill

Correct Answer: a basic skill
Candidate Answer: a basic skill

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

There is a growing parallel between India and Europe in terms of language policy and challenges of maintaining a balance between regional languages, minority
languages and the rising demand for English.

The EU's language policy promotes multinationalism and the idea that every EU citizen should learn and speak at least two foreign languages in addition to their
mother tongue. In practice, the foreign language curriculum in European countries is dominated now by the need to learn English. So the defacto policy is that
children should, in addition to the language of their member state, learn English and one other European language. English has become not only the language of
business across Europe, but also the corporate language of many French, German, Dutch and Spanish enterprises.

The trend across Europe is for schools to begin teaching English in Class I, treating it as a basic skill rather than a foreign language. This trend began in earnest only
after 2000. However, the methods to teach English are diverse - an increasingly popular trend is towards bilingual schools, which teach through more than one
language medium.

In Europe the usual pattern is that
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Options:

1) children should study English late in life

2) children should start learning English from class I

3) children may not study English when they are at school

4) children ought to study English just as a lingua franca

Correct Answer: children should start learning English from class I

Candidate Answer: children should start learning English from class I
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